Directions: We're now going to graph lines that have both m and b changed. Before you use the calculator, IT IS IMPORTANT
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Predicting Changes with m and b

Date:

THAT YOU PREDICT. If you rely on the calculator, you will not fully understand what m and b are doing!
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Name:

Period:

“What’s up with m?” Exploration

Date:

Directions: : First, draw the linear parent function lightly on each graph square. Then, using
your calculator, you will graph each linear function and carefully copy the graph onto the
coordinate plane. Finally, fill out the table to describe the changes in each.
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“What’s up with b?” Exploration

Directions: First, draw the linear parent function lightly on each graph square. Then, using
your calculator, you will graph each linear function and carefully copy the graph onto the
coordinate plane. Finally, fill out the table to describe the changes in each.
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What changes when you changed m? What changes when you change 57




